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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) narjmWu gd©àW_ AnZo àíZ nÌ na Zm_m§H$ A{Zdm ©̀V… {bI| &

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) g^r àíZ A{Zdm ©̀ h¢ &
All the questions are compulsory.

3) àË òH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI| &
Write the answer to each question in the given answer-book only.

4) {OZ àíZm| _| AmÝV[aH$ IÊS> h¢, CZ g^r Ho$ CÎma EH$ gmW hr {bI|&
For questions having more than one part, the answers to those parts are to
be written together in continuity.

5) àíZ nÌ Ho$ {hÝXr d A§Jo«Or énmÝVa _| {H$gr àH$ma H$s Ìw{Q> / AÝVa / {damoYm^mg hmoZo na {hÝXr
^mfm Ho$ àíZ H$mo hr ghr ‘mZ|&
If there is any error/difference/contradiction in Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.
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6) i) `h àíZ nÌ Xmo IÊS>m| _| {d^º$ h¡ - A Am¡a ~&
ii) IÊS> "A' g^r N>mÌm| Ho$ {bE A{Zdm ©̀ h¡&
iii) IÊS> "~' Ho$ Xmo ^mJ h¢, àË òH$ ^mJ _| gmV àíZ h¢& narjmWu H$mo {H$gr EH$ ^mJ Ho$ g^r gmV àíZm|

H$mo hb H$aZm h¡&
i) This question paper contains two Sections - A and B.
ii) Section 'A' is compulsory for all candidates.
iii) Section 'B' has two portions. Every portion has a set of seven questions.

Candidate can attempt only a set of seven questions of any one portion.
7) IÊS> àíZ g§»`m A§H$ àË òH$ àíZ

A 1-8 1
9-14 2
15-21 4
22-23 6

~ 24-25 1
26-27 2
28-29 4

30 6
AWdm

24-25 1
26-27 2
28-29 4

30 6
Section Q. Nos. Marks per question

A 1-8 1
9-14 2
15-21 4
22-23 6

B 24-25 1
26-27 2
28-29 4

30 6
OR

24-25 1
26-27 2
28-29 4

30 6
8) àíZ g§»`m 22 (IÊS>-A) VWm 30  (IÊS>-~) _| AmÝV[aH$ {dH$ën h¢&

There are internal choices in Q. No. 22 (Section-A) and Q. No. 30 (Section-B).
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IÊS> - A
SECTION - A

1) gmP|Xmar g§boI Ho$ A^md ‘| gmPoXmam| Ho$ doVZ H$m ³¶m àmdYmZ h¡& [1]
What is the provision for salary to the partners, in the absence of Partnership
deed?

2) Vê$Um d ^mdZm 4 : 2 Ho$ AZwnmV ‘| bm^-hm{Z ~m§Q>Vr hþ¶r gmPoXma h¡& CÝhm|Zo 1
3  {hñgo Ho$ {b¶o nyOm H$mo

’$‘© ‘| àdoe {X¶m& nyOm AnZm {hñgm XmoZm| go g‘mZ AZwnmV ‘| àmßV H$aoJr& Z¶o bm^-hm{Z AZwnmV H$s JUZm
H$s{O¶o& [1]
Taruna and Bhavna are partners with sharing profit and loss in the ratio of 4 : 2.

They admitted Pooja into firm for 
rd1

3  share. Pooja received her share equally

from both calculate new profit & loss ratio.

3) ‘‘Vm VWm ‘Zw 5 : 3 Ho$ AZwnmV ‘| bm^ {d^mOZ H$aVr hþ¶r EH$ ’$‘© ‘| gmPoXma h¡, CÝhm|Zo aoIm H$mo Z¶r
gmPoXma ~Zm¶m& CZH$m Z¶m bm^-hm{Z AZwnmV 4 : 2 : 1 {Z{íMV {H$¶m J¶m, Vmo ‘‘Vm d ‘Zw H$m Ë¶mJ
AZwnmV kmV H$s{O¶o& [1]
Mamta and Manu are partners in a firm with sharing profits in the ratio of 5 : 3.
They entered Rekha as new partner. Their new profit-loss sharing ratio is decided
4 : 2 : 1. Find out sacrifice ratio of Mamta and Manu.

4) àm{ßV AZwnmV d Ë¶mJ AZwnmV ‘| H$moB© Xmo AÝVa {b{IE& [1]
Write any two difference between gain ratio and sacrifice ratio.

5) ’$‘© Ho$ g‘mnZ go Amn ³¶m g‘PVo h¡? [1]
What do you mean by dissolution of firm?

6) ¶mew {b{‘Q>oS> Zo Jmo¶b {b{‘Q>oS> go J 6,00,000  ‘| EH$ ‘erZ IarXr Ed§ ¶mew {b{‘Q>oS> Zo J 10 ‘yë¶ dmbo
50,000 g‘Vm A§em| H$mo 20% àr{‘¶‘ na Jmo¶b {b{‘Q>oS> H$mo ŵJVmZ hoVw Omar {H$¶o, A§e Omar H$aZo H$s
à{d{îQ> Xr{O¶o& [1]
Yaashu Ltd. purchased a machinery from Goyal Ltd. for J 6,00,000 and Yaashu
Ltd. issued 50,000 equity shares @ J 10 each at 20% premium for payment to
Goyal Ltd. Give entry for issue of shares.

[Turn Over
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7) H¥$îUm {b{‘Q>oS> Zo 20,000 A§em| H$mo Omar H$aZo hoVw à{ddaU Omar {H$¶m& 30,000 A§em| Ho$ {bE A{^XmZ
àmßV hþAm& 24,000 A§em| Ho$ AmdoXH$m| H$mo ¶WmZwnmV ~§Q>Z {H$¶m& ¶{X amOoe H$mo 400 A§e Am~§{Q>V {H$¶o hmo
Vmo& CgHo$ Ûmam Amdo{XV A§em| H$s g§»¶m kmV H$amo& [1]
Krishna Ltd. issued prospectus to issue 20,000 shares. Subscription received for
30,000 shares. Prorata allotment is made to applicants of 24,000. If 400 shares
were alloted to Rajesh, calculate No. of shares applied by him.

8) g§¶w³V gmhg H$m g‘mnZ H$~ hmoVm h¢? >[1]
When dissolution of the Joint Venture is happen?

9) Ama, Eg VWm Q>r EH$ ’$‘© ‘| 5 : 3 : 2 Ho$ AZwnmV ‘| bm^-hm{Z ~m§Q>Vo h¡& Ama 31 ‘mM© 2018 H$mo AdH$me
J«hU H$aVm h¡& Bg {V{W H$mo ’$‘© Ho$ {MÆ>o ‘| g§M¶ H$m eof J 30,000 VWm bm^-hm{Z ImVo H$m S>o{~Q> eof
J 15,000 Wm&
Ama Ho$ AdH$me J«hU na g§{MV bm^m| d hm{Z¶m| H$mo An{b{IV H$aZo hoVw OZ©b à{d{îQ>¶m± Xr{O¶o& [2]
R, S and T are partners in a firm sharing profits and losses in ratio of 5 : 3 : 2.
R retires from the firm on 31st March, 2018. The Balance Sheet of the firm showed
a balance of Reserve J 30,000 and Dr. Balance of Profit & Loss account
J 15,000 on that date.
Make Journal entries for writing off accumulated profits and losses.

10) nr, ³¶y Am¡a Ama EH$ ’$‘© ‘| gmPoXma h¡ Omo 3 : 2 : 1 Ho$ AZwnmV ‘| bm^-hm{Z {d^mOZ H$aVo h¡& ’$‘© H$s
nwñVH|$ à{Vdf© 31 ‘mM© H$mo ~§X H$s OmVr h¡& 1 OwbmB© 2015 H$mo nr ’$‘© go AdH$me J«hU H$aVm h¡& 31 ‘mM©
2015 H$mo g‘mßV JV boImdf© ‘| ’$‘© Zo J 2,40,000 H$m bm^ H$‘m¶m& Mmby df© ‘| bm^ JVdf© H$s VwbZm
‘| 25% A{YH$ hmoZo H$s g§̂ mdZm h¡& AdH$me J«hU H$s {V{W H$mo Mmby df© Ho$ bm^ ‘| nr H$m {hñgm kmV
H$s{O¶o VWm nr H$mo Xo¶ bm^ H$s à{d{îQ> H$s{O¶o& [2]
P, Q and R partners in a firm sharing Profit & Losses in the ratio of 3 : 2 : 1.
P retires from the firm on 1st July 2015. The firm closes its books on 31st March
each year. The firm earned a profit of J 2,40,000 during the previous accounting
year ended on 31st March, 2015. It is estimated that current year's profit would be
25% more than previous year.
Determine the share of P on the date of retirement in the current year's profit, also
make journal entry for profit given to P.
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11) E³g, dmB© d OoS 3 : 3 : 2> Ho$ AZwnmV ‘| bm^ ~m§Q>Vo h¡& OoS> Ho$ {Zd¥V hmoZo na g§¶w³V ~r‘m nm°{bgr H$m g‘n©U
‘yë¶ J 1,60,000 Am§H$m J¶m, nm°{bgr ImVm ̂ {dî¶ ‘| nwñVH$m| ‘| Zht {XImZm h¡ VWm ̂ {dî¶ ‘| eof gmPoXma
bm^ ~am~a-~am~a ~m±Q>Zm V¶ H$aVo h¡& ’$‘© H$s nwñVH$m| ‘| Amdí¶H$ OZ©b à{d{îQ>/à{d{îQ>¶m± Xr{OE ¶{X
àr{‘¶‘ H$mo ì¶mnm[aH$ IM© ‘mZm OmVm h¡& [2]
X, Y and Z are partners sharing profits in the ratio of 3 : 3 : 2. The surrender value
of joint life policy is J 1,60,000 on the date of retirement of Z. It is decided that
joint life policy will not appear in balance sheet X and Y decide to share future
profits equally. Give necessary journal entry/entries in the books of the firm when
premium treated as trade expenses.

12) pñW{V {ddaU Ho$ "g§M¶ Ed§ Am{Y³¶' erf©H$ Ho$ AÝVJ©V {bIr OmZo dmbr Mma ‘X| {b{I¶o&  [2]
Write four items under the head of 'Reserves and Surplus' of Balance Sheet.

13) amoH$‹S> Vwë¶ H$mo g‘PmB¶o& [2]
Explain Cash Equivalents.

14) g§¶w³V gmhg g§~§Yr ì¶dhmam| H$m boIm aIZo H$s {d{Y¶m± ~VmB¶|& [2]
State the methods of accounting for Joint venture transactions.

15) ‘ZmoO Am¡a ‘wHo$e Zo 1 OZdar 2016 H$mo H«$‘e… J 2,000, J 20,000 H$s ny±Or Ho$ gmW gmPoXmar ’$‘© ewê$
H$s& 1 ‘mM© 2016 H$mo ‘ZmoO Zo J 8,000 H$s A{V[a³V ny±Or bJm¶r& Cg {XZ ‘wHo$e Zo AnZr n±yOr go
J 6,000 {ZH$mbo& ‘wabr Zo 1 OwbmB© 2016 H$mo J 30,000 H$s ny±Or Ho$ gmW ’$‘© ‘| àdoe {H$¶m& Cg {XZ
‘ZmoO Am¡a ‘wHo$e H«$‘e… J 12,000 Am¡a J 10,000 H$s A{V[a³V ny±Or bJm¶r& bm^-hm{Z ny±Or AZwnmV
‘| {d^m{OV {H$¶o OmVo h¡& df© 2016 Ho$ bm^ J 59,600 Wo& nyar JUZm XoVo hþ¶o bm^ Ed§ hm{Z {Z¶moOZ ImVm
~ZmBE& [4]
Manoj and Mukesh started a partnership firm on 1st January, 2016 with a capital of
J 2,000 and J 20,000 respectively. On 1st March 2016 Manoj introduced additional
capital of J 8,000. On that day, Mukesh withdrew J 6,000 from his capital. Murli
entered in the firm on 1st July 2016 with a capital of J 30,000. On that day Manoj
and Mukesh introduced additional capital of J 12,000 and  J 10,000 respectively.
Profit-loss are distributed in capital ratio. The profits for the year 2016 were
J 59,600. Prepare P&L Appropriation Account by giving detailed calculations.
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16) g§OZm d a§OZm EH$ ’$‘© ‘| gmPoXma h¡& 31 ‘mM© 2015 H$mo gmPoXmam| H$s ny±Or H«$‘e… J 4,00,000 d
J 2,00,000 h¡ VWm boZXma J 90,000 h¡& Bgr {V{W H$mo ’$‘© Ho$ g‘mnZ na gån{V¶m| H$m dgybr ‘yë¶
J 3,60,000 h¡& dgybr ImVm ~ZmBE& [4]

Sanjana and Ranjana were partners in a firm. On 31st March 2015 capital of the
partners are J 4,00,000 and J 2,00,000 respectively and creditors worth J 90,000.
Realisable value of Assets is J 3,60,000 on the same date, at the time of dissolution
of the firm. Prepare Realisation Account.

17) amo{hV Am¡a amhþb H$n‹S>o Ho$ H«$¶ {dH«$¶ H$aZo hoVw g§¶w³V gmhg ‘| àdoe H$aVo h¡ Am¡a bm^-hm{Z 3 : 2 Ho$
AZwnmV ‘| ~m±Q>Zo H$m {ZíM¶ H$aVo h¡& amo{hV Zo J 50,000 Ho$ H$n‹S>o IarXm VWm J 500 ^m‹S>m, J 100 ~r‘m
ì¶¶, J 400 Jm‹S>r ^m‹S>m VWm J 300 {d{dY ì¶¶ Ho$ MwH$m¶o& amhþb Zo J 30,000 Ho$ H$n‹S>o IarXo, J 200
JmoXm‘ {H$am¶m, J 100 ~r‘m, J 100 Jm‹S>r ^m‹S>m Ho$ MwH$m¶o& amoo{hV Zo Hw$N> H$n‹S>m J 60,000 ‘| VWm amhþb
Zo eof H$nS>m J 38,000 ‘| ~oM {X¶m& amo{hV H$s nwñVH$m| ‘o g§¶w³V gmhg ImVm d amhþb H$m ImVm ~ZmB¶o&[4]

Rohit and Rahul entered in Joint venture to purchase and sales of cloth and decide
to distribute profit or loss in 3 : 2 ratios. Rohit purchased cloth J 50,000 and paid
J 500 Freight, J 100 Insurance Expenses, J 400 carriage and J 300 sundry
expenses. Rahul purchased cloth J 30,000 and paid J 200 godown rent, J 100
insurance premium and J 100 carriage. Rohit sold part of the cloth for worth
J 60,000 and Rahul sold remaining cloth for J 38,000. Prepare Joint Venture
Account and Rahul's Account in the books of Rohit.

18) {ZåZm{H$V na {Q>ßnUr {b{IE - [4]

i) gm‘mÝ¶ H$‘reZ

ii) n[aemoY H$‘reZ

Write the notes on following :

i) Ordinary / General commission.

ii) Del-Credere commission.
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19) gm±Ibm Q´>oS>g© Zo dZñn{V Kr Ho$ 5,000 nrno J 1,200 à{V nrnm bmJV na ‘ogg© ‘oKm Q´>oS>g© H$mo MmbmZr na
^oOo VWm J 50,000 aob^m‹S>m MwH$m¶m& ‘mJ© ‘| 200 nrno Mmoar hmo J¶o {OgHo$ {b¶o ~r‘m H$ånZr go
J 1,80,000 Xmdo Ho$ àmßV hþE& EOoÊQ> Zo eof ‘mb H$s gwnwX©Jr br VWm J 27,000 My§Jr VWm
J 8,000 {~H«$s ì¶¶ Ho$ MwH$m¶o& CgZo 4,250 nrno J 1,500 à{V nrnm H$s Xa go ~oM {X¶o VWm {~H«$s na
J 50 à{V nrnm H$‘reZ dgyb {H$¶m& Agm‘mÝ¶ hm{Z, VWm {~Zm {~Ho$ ñQ>m°H$ H$s am{e H$s JUZm H$aVo hþ¶o
àofH$ H$s nwñVH$m| ‘| àofU ImVm ~ZmB¶o& [4]
Sankhla Traders consigned 5,000 vegetable oil tins @ J 1,200 per tin at cost to
M/s. Megha Traders and paid railway freight J 50,000. In course of transit, 200
tins was theft. A sum of J 1,80,000 is received from insurance company as a
claim. Agent took delivery of remaining goods and paid J 27,000 for octroi and
J 8,000 as selling expenses. He sold 4,250 tins @ J 1,500 per tin and charged
J 50 per tin as commission on sales. Prepare consignment account in the books of
consignor, with calculating amount of unsold stock and abnormal loss.

20) {ZåZm§{H$V gyMZmAm| go àm{á Ed§ ŵJVmZ ImVm 31 ‘mM© 2010 H$mo g‘mßV hmoZo dmbo df© H$m ~ZmB¶o& [4]
J

àmapå^H$ amoH$‹S> emof 40,000
XmZ àmßV {H$¶m 2,00,000
MÝXm àmßV {H$¶m 4,00,000
{~Obr {~bm| H$m ŵJVmZ {H$¶m 80,000
{H$am¶m J 4,000 ‘m{gH$, df© Ho$ Xm¡amZ 11 ‘mh H$m ŵJVmZ {H$¶m
H$åß¶yQ>a ZH$X ‘| H«$¶ {H$¶m 2,00,000
‘mZXo¶ ŵJVmZ 76,000
am‘ go ‘erZar IarXr& 1,00,000
Prepare Receipts and Payments Account for the year ending 31st March, 2010
from the following information.

Rs.
Cash-in-hand opening 40,000
Donation received 2,00,000
Subscription received 4,00,000
Paid for electricity bill 80,000
Rent J 4,000 p.m. actually paid for 11 months during the year
Purchases of computer in cash 2,00,000
Honorarium paid 76,000
Purchases of machinery from Ram 1,00,000
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21) {ZåZm§{H$V ‘Xm| H$mo Am¶-ì¶¶ ImVo d {MÆ>o ‘| Xem©B¶o - [4]
i) dgr¶V go àmßV am{e J 50,000
ii) Mmby df© ‘| àmßV MÝXm J 25,000
iii) Mmby df© H$m ~H$m¶m MÝXm J 5,000
iv) àdoe ewëH$ J 20,000 (50% {hñgm ny±OrJV ‘mZm Om¶o)
v) AmOrdZ gXñ¶mVm ewëH$ J 40,000
vi) gm‘mÝ¶ XmZ àmßV {H$¶m J 2,500
Show the following items in Income and Expenditure Account and Balance Sheet -
i) Amount received from Legacy J 50,000
ii) Subscription received in current year J 25,000
iii) Outstanding subscription of current year J 5,000
iv) Entrance fees J 20,000 (50% part should be capitalised)
v) Life membership fees J 40,000
vi) General Donation received J 2,500

22) gmoZy VWm ‘moZy H«$‘e… 3:2 Ho$ AZwnmV ‘| bm^ ~m±Q>Vo hþE gmP|Xma h¢& 31 ‘mM© 2012 H$mo CZH$m {MÆ>m {ZåZ
àH$ma h¢& [6]

{MÆ>m (31 ‘mM©, 2012)
Xm{¶Ëd J gån{V¶m± J
boZXma 7,500 amoH$‹S> 9,750
gm‘mÝ¶ g§M¶ 4,500 XoZXma J 15,000
bm^-hm{Z ImVm 3,000 KQ>m¶o… Am¶moOZ J 6,000 9,000
gmPoXmam| Ho$ ny±Or ImVo ñQ>m°H$ 22,500

gmoZy 30,000 ’$ZuMa 9,750
‘moZy 15,000 »¶m{V 9,000

60,000 60,000

do Q>moZy H$mo 1 Aà¡b 2012 go 1
3  ^mJ Ho$ {bE BZ JVm} na àdoe XoVo h¡ {H$ dh AnZo {hñgo H$s »¶m{V Ho$ {bE

ì¶mnma ‘| aH$‘ H$m ŵJVmZ H$ao VWm BVZr n¶m©ßV ny±Or bm¶o {Oggo {H$ Cgo Z¶r ’$‘© H$s Hw$b ny±Or H$m 1
3

{hñgm àmßV hmo OmE& ’$‘© H$s »¶m{V H$m ‘yb¶m±H$Z JV VrZ dfm} Ho$ Am¡gV bm^ Ho$ Xmo JwZo Ho$ AmYma na H$aVo
hþ¶o g‘m¶mo{OV {H$¶m OmZm h¡& BZ dfm} Ho$ bm^ H«$‘e… J 15,000, J 8,300 hm{Z VWm J 25,000 h¡& AmJo
¶h ^r V¶ {H$¶m OmVm h¡ H$s Sy>~V F$U Am¶moOZ H$mo J 2,000 VH$ KQ>m¶m Om¶o, ñQ>m°H$ H$m nwZ©‘yë¶m±H$Z
J 30,000 na {H$¶m OmE, ’$ZuMa H$mo J 7,500 VH$ KQ>m¶m OmE VWm ~H$m¶m IM© J 2,000 d A{O©V
Am¶ J 500 nwñVH$m| ‘| bm¶o Om¶o& ’$‘© H$s nwñVH$m| ‘| nwZ©‘yë¶m±H$Z ImVm d gmPoXmam| Ho$ ny±Or ImVo ~ZmB¶|&

AWdm
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A, ~ Ed§ g gmP|Xmar ‘o ì¶dgm¶ H$a aho Wo& 31 ‘mM© 2015 H$m ’$‘© H$m {MÆ>m {ZåZ àH$ma Wm& [6]
{MÆ>m 31 ‘mM© 2015

Xm{¶Ëd J gån{V¶m± J
boZXma 13,500 hñVJV amoH$‹S> 5,900
gm‘mÝ¶ g§M¶ 12,000 XoZXma 8,000
~¢H$ F$U 5,000 ah{V¶m 11,600
ny±Or ImVm ^dZ 23,000

A 15,000 »¶m{V 15,000
~ 10,000
g> 8,000 33,000

63,500 63,500
1 Aà¡b 2015 H$mo ~ AdH$me J«hU H$aVm h¡& VWm Cg g‘¶ {ZåZ {ZU©¶ {b¶o J¶o -
i) ^dZ H$m ‘yë¶ J 7,000 go ~‹T>mZm h¡&
ii) {d{dY XoZXmam| na 5% H$s Xa go g§{X½Y F$Um| Ho$ {bE Am¶moOZ H$aZm h¡&
iii) ’$‘© H$s »¶m{V H$m ‘yë¶m§H$Z J 18,000 na {H$¶m J¶m& ¶h ^r {ZíM¶ {H$¶m J¶m {H$ ~ AdH$me

J«hU Ho$ níMmV² boIm nwñVH$m| ‘| »¶m{V Zht {XIm¶r Om¶oJr&
iv) J 5,000 ~ H$mo VwaÝV ŵJVmZ Am¡a eof CgHo$ F$U ImVo ‘| hñVm§V[aV H$a {X¶m Om¶o&
’$‘© H$s nwñVH$m| ‘| nwZ©‘yë¶m§H$Z ImVm, gmP|Xmam| Ho$ ny±Or ImVo VWm {MÆ>m ~ZmB¶o&
Sonu and Monu are in partnership sharing profits in the ratio of 3 : 2. Their Balance
Sheet as on 31st March 2012 is as follows :

Balance Sheet as on 31st March, 2012
Liabilities Rs. Assets Rs.
Creditors 7,500 Cash 9,750
General Reserve 4,500 Debtors J15,000
Profit & Loss Account 3,000 Less : provisionJ 6,000 9,000
Partner's Capital A/c Stock 22,500

Sonu 30,000 Furniture 9,750
Monu 15,000 Goodwill 9,000

60,000 60,000

They decided to admit Tonu on 1st April 2012 for 
rd1

3  share, with the term that he
has to pay cash into the business for his share of goodwill and sufficient capital to
give him a one third share of the total capital of the new firm. The goodwill of the
firm is adjusted by valueing it at two years purchases of the average profits of the
last three years, profit or loss for these years being : J 15,000, J 8,300 (Loss) and
J 25,000. It was further agreed that the provision for Bad debts be reduced to

[Turn Over
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J 2,000, that the stock be revalued at J 30,000, that the furniture be reduced to
J 7,500 and outstanding expenses J 2,000 and accrued income J 500 to be
brought into books.
Prepare Revaluation account and partners capital account in the books of firm.

OR
The partners A, B and C were carrying on business. The Balance Sheet of the firm
as at 31st March 2015 was as under.

Balance Sheet as on 31st March, 2015
Liabilities Rs. Assets Rs.
Creditors 13,500 Cash in hand 5,900
General Reserve 12,000 Debtors 8,000
Bank loan 5,000 Stock 11,600
Capital A/c Building 23,000

A 15,000 Goodwill 15,000
B 10,000
C 8,000 33,000

63,500 63,500
B retires on 1st April 2015. The following decisions were taken at that time -
i) Value of building is increased by J 7,000.
ii) Provision for Bad Debts @ 5% is made on Sundry Debtors.
iii) Goodwill is valued at J 18,000 and it is also committed that after retirement of

B it will not shown in the Books.
iv) Payment made to B J 5,000 immediately and balance is transferred to his loan

account.
Prepare Revaluation account, Partners capital accounts and Balance Sheet in the
books of firm.

23) {h‘m§ew {b. Zo J 10,00,000 Ho$ 9% F$UnÌm| H$m {ZJ©‘Z {ZåZ àH$ma {H$¶m - [6]
i) J 5,00,000 Ho$ 9% F$UnÌm| H$mo 10% ~Å>o na ZH$X Ho$ {bE&

ii) ñZohm {b. go J 2,25,000 ‘erZ H«$¶ H$s, CgHo$ à{V’$bñdê$n CgH$mo J 2,50,000 A§{H$V ‘yë¶
Ho$ 9% F$UnÌ {ZJ©{‘V {H$¶o&

iii) ~¢H$ go J 1,25,000 H$m F$U {b¶m& gånm{œ©H$ à{V ŷ{V Ho$ ê$n ‘| ~¢H$ Ho$ nmg J 2,50,000 Ho$
9% F$UnÌ O‘m H$am¶o&

{h‘m§ew {b. H$s nwñVH$m| ‘| OZ©b à{d{îQ>¶m± Xr{O¶o&
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Himanshu Ltd. issued 9% Debentures of J 10,00,000 as follows -

i) 9% Debentures of J 5,00,000 at 10% discount for Cash.

ii) A machine of J 2,25,000 purchased from Sneha Ltd. For the consideration
of it, 9% debentures were issued with a nominal value of J 2,50,000.

iii) Taken a loan of J 1,25,000 from Bank and deposited to the bank 9%
Debentures of J 2,50,000 as collateral security.

Give Journal entries in the books at Himanshu Ltd.

IÊS> - ~
SECTION - B

IÊS> ~ Ho$ Xmo ^mJ h¡, àË òH$ ^mJ _o§ gmV àíZ h¡ narjm{W©̀ m| H$mo {H$gr EH$ ^mJ Ho$ gmV àíZmo H$mo hb H$aZm
h¡&
Section B has two portions. Every portion has a set of seven questions. Candidate
can attempt any set of seven questions of any one portion.

24) àd¥{V AZwnmV kmV H$aZo H$m gyÌ {b{IE& [1]
Write formula for calculating Trend Ratio.

25) ¶{X àmapå^H$ ñQ>m°H$J 20,000, ewÕ H«$¶ J 50,000, àË¶j ì¶¶ J 5,000 h¡, VWm A§{V‘ ñQ>m°H$
J 22,500 hmo Vmo ~oMo J¶o ‘mb H$s bmJV kmV H$amo& [1]
If opening stock J 20,000, Net purchase J 50,000, Direct Expenses J 5,000 and
closing stock is J 22,500 then calculate cost of goods sold.

26) g‘mZmH$ma {MÆ>o H$m àmê$n ~ZmB¶o& [2]
Make proforma of Common Size Balance Sheet.

27) {ZåZ{b{IV gyMZmAm| go gH$b bm^ Ed§ ewÕ {dH«$¶ H$s am{e kmV H$s{OE - [2]
J

gån[V¶m± 1,50,000
Am¡gV ñQ>m°H$ 70,000
ñQ>m°H$ Amd©V AZwnmV 4 times
XoZXma 40,000
{dH«$¶ ‘yë¶ bmJV ‘yë¶ go 20% A{YH$
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Find out Gross Profit and Net Sales from the information given below :
J

Fixed Assets 1,50,000
Average stock 70,000
Stock Turnover Ratio 4 times
Debtors 40,000
Selling price 20% above cost

28) {ZåZ{b{IV gyMZmAm| go am‘ {b. H$m VwbZmË‘H$ pñW{V {ddaU ~ZmB¶o - [4]
{ddaU 2011 (J) 2012 (J)

Xm{¶Ëd : A§e ny±Or 80,000 1,20,000
g§M¶ 24,000 20,000
XrK©H$mbrZ F$U 1,00,000 1,20,000

¶moJ 2,04,000 2,60,000
gån{V¶m± : ñWm¶r gån{V¶m± 1,60,000 2,04,000

{d{dY XoZXma 20,000 40,000
~¢H$ eof 24,000 16,000

¶moJ 2,04,000 2,60,000
Prepare comparative Balance Sheet of Ram Ltd. from the above information -

Particulars 2011 (J) 2012 (J)
Liabilities : Share capital 80,000 1,20,000

Reserve 24,000 20,000
Long-Term Loan 1,00,000 1,20,000

Total 2,04,000 2,60,000
Assets : Fixed Assets 1,60,000 2,04,000

Sundry Debtors 20,000 40,000
Bank Balance 24,000 16,000

Total 2,04,000 2,60,000

29) amoH$‹S> àm{ßV Ho$ g§~§Y ‘| Z¡{VH$ AmYma na boIm§H$Z {H$g àH$ma {H$¶m OmVm h¡? (H$moB© Mma {~ÝXþ) [4]
How the accounting of cash receipts can be done on ethical basis? (Any four
points).
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30) {Z{H$Vm {b. H$s nwñVH$m| go {ZåZ{b{IV gyMZmE± àmßV H$s JB© h¡ : [6]
{ddaU 2010-11 2011-12

g§MmbZ go AmJ‘ 10,00,000 15,00,000
ì¶mnm[aH$ àmß¶VmE± : 1 Aà¡b 1,50,000
ì¶mnm[aH$ àmß¶VmE± : 31 ‘mM© 1,75,000 2,50,000
ñH$ÝY  : 1 Aà¡b 1,60,000
ñH$ÝY : 31 ‘mM© 1,80,000 2,20,000
XmoZm| dfm} Ho$ {bE ì¶mnm[aH$ àmß¶ AmdV© AZwnmV Ed§ ñH$ÝY AmdV© AZwnmV H$s JUZm H$s{OE& {dH«$¶ na bm^
25% h¢&

AWdm
ê${M {b. H$s nwñVH$m| ‘| {ZåZm{H$V gyMZm¶| Xr hþB© h¢ :- [6]
12%, 1,000 A{Y‘mZ A§e àË¶oH$ J 100, 25,000 g‘Vm A§e àË¶oH$ J 10 H$a níMmV bm^
J 1,90,000 g‘Vm A§em| na bm^m§e MwH$m¶m 40% H$s Xa go&
Cnamo³V gyMZmAm| Ho$ AmYma na {ZåZ AZwnmVm| H$s JUZm H$s{OE :-
i) à{V A§e AO©Z
ii) à{V A§e bm^m§e
iii) bm^m§e ŵJVmZ AZwnmV
Following information have been obtained from the books of Nikita Ltd.
Particulars 2010-11 2011-12
Revenue from operations 10,00,000 15,00,000
Trade Receivables on 1st April 1,50,000
Trade Receivables on 31st March 1,75,000 2,50,000
Inventory on 1st April 1,60,000
Inventory on 31st March 1,80,000 2,20,000
Calculate Trade Receivables Turnover Ratio and Inventory Turnover Ratio for
both of the years. Assuming that profit on sales is 25%.

OR
Following information given in the books of Ruchi Ltd. :-
1,000, 12% preference shares @ J 100 each, 25,000 Equity shares @ J 10 each,
profit after tax J 1,90,000, Dividend paid on equity shares @ 40%.
Calculate following ratio on the basis of above information :
i) Earning per share.
ii) Dividend per share.
iii) Dividend payout Ratio.

AWdm/OR

[Turn Over
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IÊS> - ~

SECTION - B

24) g§¶w{³VH$aU go Amn ³¶m g‘PVo h? [1]

What do you mean by networking?

25) ¶yOa BÝQ>a’o$g go Amn ³¶m g‘PVo h¡? [1]

What do you mean by user interface?

26) E³gob ‘| ZB© dH©$ ~wH$ ~ZmZ| H$s à{H«$¶m g‘PmAm|& [2]

Explain process of creating a new workbook in Excel.

27) dH©$ ~wH$ g§aMZm ‘| ""gob H$mo hQ>mZm d H$mnr H$aZm'' go Amn ³¶m g‘PVo h¡? [2]

What do you mean by "Moving and Copying Cells" in structure of Work Book?

28) boIm§H$Z gmâQ>do¶a Ho$ àH$mam| H$m CëboI H$amo& [4]

Narrate types of Accounting Software.

29) S>mQ>m~og ‘oZoO‘|Q> {gñQ>‘ Ho$ àH$mam| H$mo g‘PmB¶o& [4]

Explain types of Data base management system.
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30) {dÎmr¶ {díbofU Ho$ A{V[a³V ñàoS>erQ> Ho$ {H$Ýhr N>… Cn¶moJm| H$mo {b{I¶o& [6]
AWdm

{ZåZm§{H$V n[apñW{V¶m| ‘| ñàoS>erQ> Ho$ boIm§H$Z ‘| à¶moJ H$mo g‘PmB¶o - [6]
i) IMm} H$s JUZm

ii) Am¶ H$s JUZm

Explain any six uses of spread sheet except financial analysis.

OR

Discuss the application of spread sheet in accounting in following cases :

i) Calculation of Expenses.

ii) Calculation of Income.


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